Warm up

Sum of Cubes Difference of Cubes
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Questions From Homework

@ x4 )6 N6 =433
( X'+ % \Q—- 4
CED CEDE
G\+‘D_H1\~—

e -a%)
(Rt ) (-3

by Ux'+0x>d5 {100 =102=30
(e 4302 +39)-93
62l
(22433 +D) 3N
(33145 YAk -3x49)




Factor Theorem

Factor Theorem
(x-b) is a factor of f(x) if and only if f(b) = 0.

Hint: Find a value of "x" that will make it=0
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Use long division to find another factor:
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Factor Theorem

Factor Theorem

(x-b) is a factor of f(x) if and only if f(b) = 0.
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Homework

# |-3
*® o) X3+0x.°-'\x+6



	Page 1: 1
	Page 2: 2
	Page 3: 3
	Page 4: 4
	Page 5: 5

